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TR | KEE No | No | EFEMED AFE AR AL AR AR B AR AL B T EAL R ke
1] 13 BB 4716 | 4716 FEtE BEALE/NEH 1 1 1 1 1 1 1 1 1 1 1 1 5 5/cUT 1 1 1 3 3 3l 8
2 1 BAXE 4734 4734 PilB3E WHREZ/BLUOLD 2 2 2 3 2 2 2 2 2 3 3{cuTt 1 1 1 2 2 2 1 1 1] 10
3| 20 BiEXE 4492 | 4492 EREHF BERER/SSLALTFTS5T 3 3 3 2(UFD |cUT 3 3 3 2 2 2 2 2 2 3 3 3l 4 4 a4 17
4] 106 BaKE 4498 | 4498 SFBE RHEE 4 4| 4] s 5|cuT 5 5 5 5 5 5 3 3 3 5 5 5 2 2 2| 24
5| 103 thR K% 4571 4571 EHENT EHREE/HAGSE 6| 6 6 4 3 3 6 6 6 7 7|cUT 7 7 7 4l 4 4 6 6 6| 32
6| 5 RRIXKFE 4405 | 4405 EmREDH BETS 71 7 7 8 7 7 a4 a4l 4| 4 4 a4 8 8 8 8[scP [cuT 5 5 5] 35
7| 76 R KE 4607 4607 SRR R/ MEEE 5 5 5 5 4 4| 13| 12|cuT 6 6 6| 10| 10[ 10 6 6 6| 12| 12| 12| 43
8| 49 HERXZ 4357 4692 AR TESET 8 8 8 9 8 8 7 7 7 8 8 8 9 9 9| 12| 11|cuT| 10| 10| 10| 50
9| 36 THKRE 4464 4464 HEAE R /ERHkE 13| 13| 13 7 6 6| 12|RET |cUT 10 10| 10 6 6 6l 10 9 9 8 8 8| 52
10| 83 HEREIAE 3707 3910 BT &0 th B5 10| 10[ 10| 10 9 9 9 9 of 11| 11| 11| 13 13jcut| 11| 10| 10 9 9 o] 58
1| B ILERBEKE 4433 4433 FHERRF BT ER K TE RET |RET |CUT 11| 10| 10| 11| 11| 11 9 9 9| 12| 12| 12 9 8 8| 13| 13| 13| 63
12| 84 RS KE 4676 4676 HARER EAER DNC |DNC|CUT |DNC [DNC | 17|DNC |DNC | 17|DNC [DNC | 17 4 4 4 7 7 7 7 7 71 69
13| 7 THIEXE 4519 | 4519 e [0y=78 INBEF 9| 9 9|UFD |RET |CUT 8 8 8| 13| 13| 3] 11| 11| 11| 14 13| 3] 15| 15| 15| 69
14| 89 BXP 4139 3628 RIPES T 11| 11| 11| 18] 12[ 12] 10| 10| 10| 12| 12| 12| 15| 15|CUT 15 14| 14| 14| 14| 14 73
15| 35 THKFE 4406 4563 FiLskE REFE/SHIEBR 12( 12| 12| 12| 11| 11| 14| 13| 13| 14| 14| 14] 14| 14| 14| 13| 12| 12| 16| 16[cUT 76
16] 9 BiaXE 4367 4367 ik K HARARE 14| 14| 14| 14| 13| 13|DNC |DNC [CUT |DNC [DNC | 17|RET |RET 17| 16| 15| 15| 11| 11| 11| 87
L—ZH 9H26H 9H268 9A26H 9H268 9A27H 9H827H 9H27H
XK 53] 53] 53] 53] Bh Eh Bh
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L 12knot 13knot 10knot 12knot 5knot 5knot 4knot
Z24—FEEZ 11852353008 | 12853052005 13855143 00F) 1485553 00F) 11850543 00F) 1282553 00F) 13854043 00F)
T4=v 2 B%l (Top) 118559435580 | 13BF045321%) 14852743 28F) 15853443 52F) 11854453095 13850243150 14851743 20%)
T4=9 1B (Last) 1265114303% 1305159155 1485425285 15654943315 1185565321F) 1385104595 1483143208




